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1.  sin(A + B) = sinA cosB + cosA sinB  
2.  cos(A + B) = cosA cosB �sinA sinB  
 

3.  tan(A + B) =    
 
���ก
��	����ก���������$� n  �&#�  

���ก
��	����ก���������$� 2 �&#� ���ก
��	����ก���������$� (�)*��&#� 

sin
2

A
= 1 cos

2

A−
±

 

cos
2

A
= 1 cos

2

A+
±

 

 

���ก��������ก�� � !"� �#� 3 $%&' 

sin2A = 2sinA cosA             
2

2tan

1 tan

A

A
=

+

 

cos2A = cos2
A � sin2

A 

= 2cos2
A � 1 

= 1 � 2sin2
A 

          2

2

1 tan

1 tan

A

A

−
=

+

 

 
tan2A =  

 

sin3A = 3sinA � 4sin3
A 

cos3A = 4cos3
A � 3cosA 

 
tan3A =   
 

Tip.   

 
Ex.1   *+'                              ,-+.  cos4

A + sin4
A  $%&'ก�/  

 
          1.            2.             
 

 3.           4.     
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 1
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10
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3
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4
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A =

 

4
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5
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π
≤ + ≤
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2

A B+ 
 
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 3
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2
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1
4tan (2arccos )

10

 

3 4
sin(arcsin arccos )

5 5
+

 

24

25
−

 24

25

 

1
tan(2arcsin( ))

5
−

 

Ex.2  ก0'1�231+   5cos3A cosA + 5sin3A sinA = -3   $�67" 
!+"32�&"89��:;6";&'!"�  tanA  

 

 1.    2.    1 
 

 3.    4.   2 
 
Ex.3   *+'                       ,-<                               $�67"  A  ,-< B $9=� �#�,1-�  ,-+.  tan(A + 2B)   

$%&'ก�/!+"32�&"89��:  
 1.    2.    1 
 

 3.    4.   2 
 
Ex.4  ก0'1�2                       ,-<                       $�67"  A, B   ,-<     

 
!+"32;6";&'!"�   

 
 1.       2.     
 
 3.        4.    
 
Ex.5   @�1';&'!"�      
 
 1.  -1                        2.  -2 
 3.  -3                           4.  -4 
 
Ex.6   @�1';&'!"�    

 

 1.   -1           2.   1 
 

 3.              4.    
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+

 
1 6
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1 6
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+

 

1 7

3 25
+

 

1 1
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2 3
+

 

5
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π  
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2

π
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1

5

 

1

3

 

1
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1
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Ex.7   ;&'!"�                                        $%&'ก�/!+"32�&"89��:   
 
 1.   -1                2.   1 
 

 3.                      4.    
 
 
Ex.8  ;&'!"�                                                                $%&'ก�/!+"32�&"89��:  
 
           1.           2.                     
 
          3.                  4.            
 
Ex.9   ;&'!"�                                               $%&'ก�/$%&'8�   
 
 

         1.                          2.                            
 
 3.                             4.   
 
Ex.10  *+'                                                         ,-+.;&'!"� tan(arcsin x) $%&'ก�/!+"32�&"89��: (PAT 1 ก.;. 52 ) 
 
 1.     2.    
 
 3.     4.    
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-0'2�/$-!;� �  ( Arithmetic  Sequence ) 

� J'�... -0'2�/$-!;� �;6"-0'2�/%�7��K-�&'��&.�  d  ;�%�7 

-0'2�/%�7.89     
1 2 3 4, , , ,..., na a a a a  

-0'2�/$-!;� � 
1 1 1 1 1, , 2 , 3 ,..., ( 1)a a d a d a d a n d+ + + + −  

 

dnaan )1(1 −+=   

LM��2��ก-&'.$9=�ก'�1'N@��%�7 n 1'กL��$ก�31+2� $�'��1-�ก-�2%�7$�'$;J$��J�$�O.ก.&'�'ก  
,�&%�7�+"�31+$��J� $N�'<�@%J�/'�!+"J��;�@0'$9=��+"�3�+� J'�2��ก-&'. 
 

  TipP               
              ก'�1'N@��%�7.89!"�-0'2�/$-!;� ���:�%0'82+�&'J �'กQ 2����: 

na dn=    $9=�N@��,�ก 

 

 
Ex.1   @�1'N@��%�7.89!"�-0'2�/�&"89��:"J&'��.2$�O.%�7L#2 

1.   11 , 13 , 15 , 19 ,P a
n
 = ........................... 

2.   2 ,  -1 ,  -4 ,  -7 ,  -10 ,P  a
n
 = ........................... 

3.  7 ,  10 ,  13 ,  16 ,  19 ,P a
n
 = ........................... 

 
Ex.2   N@��,�ก%�7$9=�@0'�.�$�O�-/!"�-0'2�/$-!;� �  200 ,  182 ,  164 ,  146 ,P   
 ��;&'�&'�@'กN@��%�7$%&'ก�/!+"32�&"89��:  ( EntX40 ) 
 1.  54  2.  38  
 3.  22  4.  20 
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Tip.   
Θ   @� �Q ,-+.ก'�%�7$�'@<1'N@��32กO�'�@<1'82+@'ก dnaan )1(1 −+=    
,�&ก'�%�7�@%J�8�&/"ก a

1
  ,-< d �'���Q ��:� %0'31+$�'@<1'N@��%�7�+"�ก'��+"�$L�J$.-'��:�L�ก'� 

2 L�ก'�$N67"1';&' a
1 

 ,-< d 31+$@"ก&"� 

Θ   @'ก9�Y1'2��ก-&'.*+'$�'1�2$9=�;��&'�L��$ก�  $�'@<1'N@��%�7�+"�ก'�82+$�O.ก.&'2����: 
 

n
dmn

m
dkm

k
dk aaaa  → → ← −−− )()()1(

1  

      !�:�%�7  1  1' d  82+@'ก    ( ) m km k d a a− = −  

 

      !�:�%�7  2  1'N@��%�7�+"�ก'�82+@'ก ( )n ma a n m d= + −  

 

 
Ex.3   @�Z[ก%0'�@%J��&"89��:31+$�O.%�7L#2 

�@%J� !�:�%�7 1 1'  d  

( ) m km k d a a− = −  
!�:�%�7  2  

( )n ma a n m d= + −  

1. N@��%�7 20 !"�-0'2�/$-!;� �%�7  

a4  = 32  ,-<  a9 = 42 

 

  

2. N@��%�7 15 !"�-0'2�/$-!;� �%�7  

a4 = 26  ,-<  a9 = 61 

 

  

3. N@��%�7 18 !"�-0'2�/$-!;� �%�7 

a7 = 26   ,-<   a13 = 80 

 

 
 

 

 
 

 

4. N@��%�7 30 !"�-0'2�/$-!;� �%�7 

a17 = 104  ,-< a23 = 140 
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ก��9��:�	 	;�	
 
ก'�1'@0'�.�N@��!"�-0'2�/$-!;� �  *+'8�&��$%;� ;,-+.*6".&'8�&3�&$�67"��&'J$-J ,�&*+'��$%;� ;

,-<3�+$%;� ;$9=�,-+. $�67"���:กO*6".&'$9=��@%J�%�7$�'�"/82+$�O.�'ก@�$N67"�Q \��82+$-J,1-<  $N67"31+�&'J
,-<3�+82+3�%#กก���,-+. $�'@<,/&�""ก$9=� 2 ก-#&�2����: 
 

 $-!%�7$��J��&"$�67"� $-!%�7$��J�8�&�&"$�67"� 
(-0'2�/1�6""�#ก�� ) 

L�#9LM��
-�2 d

x

d

x
n minmax −=

 
1minmax +

−
=

d

xx
n

 

��."J&'� $]�!"�@0'�.�  4 , 5 , 6 ,..., 9 , 100
   %�7 3 1'�-���. 

-0'2�/   4 , 7 , 10 ,..., 100 

 

 $-!%�7$��J��&"$�67"� $-!%�7$��J�8�&�&"$�67"� 
(-0'2�/1�6""�#ก�� ) 

Θ  *+'$9=�$-!%�7$��J��@%J�@<L�7�
$"�31+ 1'�"<8�-���. 

Θ  *+'$9=�-0'2�/@<�+"��M+;&' d  
$"� 

�+"�$L�J$.-'1'    

1 6a =  

  99na =  

3�+82+%��%� 
1 4a =  

    100na =  

;0'�.�1'@0'�.�N@��@'กLM��  

dnaan )1(1 −+=  
 

@'กLM�� 
dnaan )1(1 −+=  

$�67"  
1 6a =  ,  3d =     

,-<  99na =           

@<82+ 99 6 ( 1)3n= + −  

 6 3 3n= + −  
 3 96n =  
 32n =  

@'กLM��  

dnaan )1(1 −+=  
$�67"  

1 4a =  , 3d =   

,-<  100na =             

@<82+  100 4 ( 1)3n= + −  

 4 3 3n= + −  
 3 99n =  
 33n =  
 

;0'�.�1'@0'�.�N@��"�ก%� 
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!+";.��<.��L0'1��/@0'�.�N@��!"�-0'2�/%�7�� 1d ≠  ($-!%�7$��J��&"$�67"� ) 

1.  d  %�73�+$9=���.1'���:��+"�,Jกก�� ,�+3�%'�N��;� �@<L'�'�*�.�ก��82+,�&กO1+'�%0' 
2.  *+'��$^_$1-6"@'กก'�1'��+"�9�2% :�$L�" Jก$.+�1'�-���.31+892M!+" 3. �&" 

3.  *+'  minx

d
  1�6" min 1x

d

+   1'�2+.J d  -���.,-+.@0'�.�N@��%�782+@<�+"�/.ก$N 7�"�ก 1 $L�" 

 
Ex.4   @�1'@0'�.�N@��"J&'��.2$�O. 

�@%J� @0'�.�N@��
 
 

1. 2 410 , 10  
 ��%�:�1�2ก�7N@��%�71'� 9 -���.  

2. [ ]100 , 500  ��%�:�1�2ก�7N@��%�71'� 7 -���.  

3.  2 , 9 , 16 , 23 ,..., 695  

4.  5 , 9 , 13 , 17 ,..., 113   

 

Ex.5 *+'  s = { 200 ,  201 ,  202 ,P,  400 }  ,-+.@0'�.�L�'� ก%�:�1�23�$]� s %�71'�2+.J 8 -���.,�&1'�

2+.J 12 8�&-���.$%&'ก�/!+"32�&"89��:  
 1.  15                    2.  18 
 3.  21                    4.  24 
 
Ex.6  @0'�.�$�O�%�7��;&'��:�,�&  100  *b�  999  %�71'�2+.J 2  -���. ,�&1'�2+.J 3 8�&-���.��@0'�.�$%&'ก�/!+"32

�&"89��:  ( PAT 1 ก.;. 52 ) 
 1.   250 2.   283    
 3.   300     4.   303 
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lim 0n
n

b
→∞

≠  
lim

lim
lim

n
n n

n
n n

n

a
a

b b
→∞

→∞

→∞

 
= 

 

 

&=
���������� 

*+' na  ,-< nb  $9=�-0'2�/;"�$."��$@��� ,-< c  $9=�;&';�%�7,-+. 
 

1.  lim
n

c c
→∞

=  

 

2.  lim limn n
n n

ca c a
→∞ →∞

=  

 

3.  lim( ) lim limn n n n
n n n

a b a b
→∞ →∞ →∞

± = ±  

 

4.  lim( ) lim limn n n n
n n n

a b a b
→∞ →∞ →∞

⋅ = ⋅  

 
 
5.                                                             $�67"     

>?����@���������:�@�� 

>?����@&�* AB Tip.(@�ก #�>?����@&�* AB) 

ก0'1�231+ na  "JM&3��M9���ก����N1#�'�1'�ก�� 

1. *+'ก0'-��LM�L#2!"�$^_ = ก0'-��LM�L#2!"�L&.� 
31+�"/%��%�.&' 

     lim n
n

a
→∞

= ............................ 

 

2. *+'ก0'-��LM�L#2!"�$^_ >  ก0'-��LM�L#2!"�L&.� 
31+�"/%��%�.&'   

lim n
n

a
→∞

= ................................ 

 

 

3. *+'ก0'-��LM�L#2!"�$^_ <  ก0'-��LM�L#2!"�L&.� 
31+�"/%��%�.&' 

lim n
n

a
→∞

= ............................. 
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3 2

2lim
3 4 3 2n

n n

n n→∞

 
− − + 

 

2

9

 

1

3

 

1lim 5n

n

a a

n→∞

−
= 

 
 

 

2 2
1lim 4n n

n

a a

n
+

→∞

−
=

 
 
 

 
17 9

2

a a−  

Ex.7   @�Z[ก1'- � �!"�-0'2�/"������&"89��:31+$�O.%�7L#2 

1.   
2

2

3 1
lim

2 1n

n

n→∞

+
+

      

 
= ......................................... 

2.   
2

3 1
lim

1n

n

n→∞

+

+
    

 
= ......................................... 
 

3.  
3

2 4

4 7
lim

6 5 2n

n n

n n n→∞

−

− + −
 

 
= .......................................... 

4.   
3 2

3

9 5 1
lim

25 16n

n n

n→∞

+ −
−

   

 
= .......................................... 

 
Ex.8   ;&'!"�                                                          $9=�$%&'32   
 
 1.   0 2.    
 
 3.    4.   8�&��- � � 
 

Ex.9   ก0'1�231+ 
na $9=�-0'2�/$-!;� �%�7L"2;-+"�ก�/$�67"�8!     

 
*+'   

9 5 100a a+ =   ,-+.  
100a   $%&'ก�/!+"32�&"89��:  ( PAT 1 ก.;. 52 ) 

1.  500 2.  515 
3.  520 4.  1'8�&82+$N�'<!+"�M-8�&$N�J�N" 

 

Ex.10  *+' 
na $9=�-0'2�/$-!;� �]b7�                                                 ,-+.     

 

��;&'$%&'32  ( PAT 1 �.;. 52 ) 
 
Tip.   

*+'-0'2�/%�7�@%J�ก0'1�2$9=�-0'2�/���กJ<�'กก.&' �2J��...........]b7�,L2�31+$1O�*b�ก'�/.กก��
"�����N@�� $�'�+"�/.กก���2J3�+LM��!"�] ก�&'31+L0'$�O@ก&"�@b�@<3�+LM��-�2$2 � 
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4

3 3 3 3

1

1 2 3 ...n

n
a

n

+
=

+ + + +

 

3

2

1 8 27 ...
lim

k

n

n

n
A

→∞ + + + +

 
=  

 

 

3

3

3 12 27 ... 3

1 8 27 ...
lim
n

n n n n

n→∞

+ + + +

+ + + +

 
 
 

 

Ex.11  @�1'- � ��&"89��:31+$�O.%�7L#2 

           1.   
4

3 3 3 3

2 1
lim( )

1 2 3 ...n

n

n→∞

+
+ + + +

 

 

           2.   
2 1

lim( )
1 2 3 ...n

n

n→∞

+
+ + + +

 

 

           3.   3

2 2 2 2

1
lim( )

1 2 3 ...n

n

n→∞

+
+ + + +

 

 
Ex.12   L0'1��/,�&-<@0'�.�$�O�  4n ≥   ก0'1�231+       

 
-0'2�/  

na  $9=�@� ��'�!+"32�&"89��:  ( EntX39 ) 

1.   ��- � �$9=�   1 2.   ��- � �$9=�  2 
3.   ��- � �$9=�  4 4.   $9=�-0'2�/82$."��$@��� 

 
Ex.13   *+'                                                                          ��;&'$9=�@0'�.�@� �/.ก,-+.     ;&'!"� A   

 
$%&'ก�/!+"32�&"89��:   ( PAT1 ก.;. 52 ) 

1.   0  2.   2  
3.   4     4.   8 

 
Ex.14                                                                             ��;&'$%&'32  ( PAT 1 �.;. 52 ) 
 


